Quiz 06 - KEY

E hem 34?2 3 May 2004

3 Points Each. Please mark your answers on the scantron sheet. You may keep this copy.
1. What is the product of the following reaction sequence?

{E}B?rﬁmB} a)E}NH2 b) CNH ) E}NS d)@NS

2. Which of the following is a Secondary Amine?

O
NH; CNH E>7NH
a) Q b) 0) ) )J\NHz
3. Which of the following would be the STRONGEST BASE?
0]

a) QNHZ b) QNH c) CNH d) ANHZ

4. What is the product of the following reaction.

{CNH Excess CHjl } E/ CHs C E C@,CHS
> N—CHj N—CHs N
a) b) c) d) CHg

5. If the reaction above is treated with silver oxide after methylation, what is the product?

{ CNH Excess CHgl } E/N/Cléi' CN o E CEND/CHS
Then Ag>0 s M3 ~
92 a) b) 0) = d) CHz

6. What is the product of the following reaction?

o LiAIH, OH

(0]
H then H3O*
a) b) c) d) NH,

7. What is the product of the following reaction?

NN _
== a) dN;Ab)@NM v, Cm
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